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Choose the most appropriate option to convert
the given Assertive sentence to a Negative
sentence :

The fort was demolished before it was

surrendered.

(A) The fort was surrendered before it was
demolished.

(B)  The fort was demolished and surrendered.

(C)  The fort was not surrendered until it was
demolished.

(D) The fort was neither demolished nor
surrendered.

(E)  Question not attempted

Choose the option with the correct use of
punctuation(s) :

A)  We need snacks, drinks and lights.
B)  The sun having risen : we left for the town.
C) “I am going tomorrow he” said.

(
(
(
(D)  Prashant likes croissant doesn’t he ?
(E)  Question not attempted

Choose the suitable word to fill in the blank in the
following sentence :

I wish to my ties with that
organization.

(A) several (B)  surreal

(C) severe (D) sever

(E)  Question not attempted

Choose the most appropriate option to convert
the given Assertive sentence to an Exclamatory
sentence :

I ardently wish to have a small house to live in
Goa.

A)  What a small house in Goa!

(

(B) Itis my wish to live in a small house in Goa.
(C) How Iwish for a small house to live in Goa!
(

D)  What a pity! I do not have a small house to
live in Goa!

(E)  Question not attempted

5.

Fill in the blanks by matching List-I with List-II :

List-I List-II
(@) |They will return (i) |below
6 p.m.
(b) |[You must atone (if) | till
your sins.
(c) |They live us. (iii) | for
(d) |He studied 11 p.m. |[(iv)|by

Choose the correct answer from the options given
below :

(A)  (@)-(v), (b)-(0), (c)-(i), (d)-(iii)
(B)  (@)-(0), (b)-(ii), (¢)-(iii), (d)-(iv)
© (@), (b)-(v), (¢)-(ii), (d)-(1)
(D) (@)-(iv), (b)-(ii), (c)-(3), (d)-(ii)
(E)  Question not attempted

What is the official / technical term for “Complaint
or a cause for complaint” ?

(A) Grievance (B)
(©) Sadness (D)

Publication
Provision
(E)  Question not attempted

Choose the most appropriate option to convert
the given sentence from Active to Passive Voice :

People consider him to be a fair judge.

(A) Heis considered to be a fair judge.

(B) Hisjudgement is considered to be fair.

(©) Heis considered by people to fairly judge.
(D) Itis hoped that he is a fair judge.

(E)  Question not attempted

Convert the following sentence from Hindi to
English :

H IS AT HE |

Choose the most appropriate answer from the
options given below :

(A) Iam stressed about something.

(B) Iam stressed these days.

(C) Iam tensed today.

(D) IwishIcould just relax.

(E)  Question not attempted



9. Fill in the blank with an appropriate determiner :
milk is left in the bottle ?
(A) How much (B) Any
(C©) Some (D) How many
(E)  Question not attempted
10.  Fill in the blank in the following sentence with the
correct tense :
I for jobs on jobhunt.com these days
with the hope that I might get called for
interviews.
(A) has applied
(B)  have applied
(©)  applying
(D)  have been applying
(E)  Question not attempted
11.  Choose the most appropriate option to convert
the given sentence from Indirect to Direct
Speech :
This morning, he said that he would leave for
Hyderabad the next day.
(A) This morning, he said, “He will leave for
Hyderabad the following day.”
(B)  This morning, he said, “I may leave for
Hyderabad tomorrow.”
(C)  That morning, he said, “I will have left for
Hyderabad the next day.”
(D)  This morning, he said, “I will leave for
Hyderabad tomorrow.”
(E)  Question not attempted
# DB29

12.

13.

14.

15.

Convert the following sentence from English to
Hindi :
Dr. Gupta will buy the house that I built last year.

(A) ST I 3R IR @ |

(B) =l ared AAA N R ATERE |

() =TT A T8 T WG T STt A et arer
ST T |

(D) =TT a8 TR @G S H et et s
g7 |

(E)  Question not attempted

Choose the most appropriate option to replace
the underlined part of the following sentence in
order to make it grammatically correct :

Amrita didn’t knew my address.

(A) didn’t know

(B)  no correction needed
(C) didn’thad

(D) didn’t known

(E)  Question not attempted

Fill in the blank in the following sentence with the
most suitable article.

news you broke to your wife made her
nervous and she broke down.

(A) No article (B) The
required
(© An (D) A

(E)  Question not attempted

Choose the most appropriate option to convert
the given Interrogative sentence to an Assertive
sentence :

Was he not kind to help you ?

(A) Heissokind that he decided to help you in
that difficult situation.

(B) He was kind enough to help you.
(C)  He has displayed kindness, has he not ?
(D)  What a kind man he is!

(E)  Question not attempted

P.T.O.



16.

17.

18.

19.

20.

# DB29

BT UR Higd 3787 3T HATaT T Tg=r=- & TerH
FUHLOT FA-TTE 2
(A) THTHEEL (SSD)
(B) S.¥I3W. (BCR)
(©) 3WTAIMW. (OMR)
(D)  3TWH3W. (OCR)
(B)  3rgana ued
fTTREd & I -t =l TSt F qEmw Aot A&
27
(A)  wTenae (B) =&
© = = (D) et
(B)  3rfana ued
TR o T G H 25% 37 U fHU 3 T 15 3BT
T AT T TS STEH ST+ IA TG 7 40% 37F
o R S =IAaw St ¥ 15 3w e
ATH IR E :
(A) 40 (B) 50
C 65 (D) 55
(B)  3rqaRd e
Rere-gag RS TSI, T 9 ¥ o %
frtarad ® 9, 768 8= 1 aArii=ad S & ?
(A) TR (B) AR
© | (D) TdR
(B) 3raRd wed
HERTOT H#AT T {1 “famr wiw’, feteiad
I fop fopet % Rara & 9
(A) AR (B) swEETE
©)  FFwaTe (D)  Teriteg
(B)  3rIand wed
4

20.

Which device is able to recognize alphabets and
numbers printed on paper ?

(A) SSD
(B) BCR
(C) OMR
(D) OCR

(E)  Question not attempted

Which of the following rivers is not a tributary of
the river Chambal ?
Mahi

(A) Kalisindh (B)

(©) Banas (D) Parbati

(E)  Question not attempted

Riya scored 25% marks in an examination and failed
by 15 marks while Nancy scored 40% marks in the
same examination and got 15 marks more than the
minimum passing marks. The minimum passing
marks are :

(A) 40 (B) 50
(C) 65 (D) 55

(E)  Question not attempted

The Sidhmukh-Major Irrigation Project primarily
benefits which of the following regions in
Rajasthan ?

(A) Alwar (B) Bharatpur

(©) Hanumangarh (D) Bikaner

(E)  Question not attempted

The “Vijay Stambha’ built by Maharana Kumbha is
found in which one of the following forts ?
(A)

Junagarh (B) Jaigarh

Kumbhalgarh (D)  Chittorgarh

(E)  Question not attempted



21, “rat & GAAR” (FH BT BT 4UE) Thae forar
AT 2
(A)  IHATH
(B) ToSEEE Tl
()  FuwHe STt
(D) Feearea wfgan
(B)  3rqaRd e
22, ST | ATEA 3T A “STor wrar dfey” e
BT AT AT ?
TrferRad faeedt # 9 qed SR ST I :
(A) TI¥ (B) PR
© e (D) =T
(B)  3rqaid e
23. T T HT AT T, [ T Bt STRATT & HROT
IR
(A) TSI & IS
(B)  HloerA FTET
(©) wifsaATERe
(D) & 3ifaTES
(B)  3rqaid e
24, TR AW H HI AR AL ST IR 10% TR
I W B A AT &L SACIHT 2
(A) 20a (B) 2599
© 309y (D) 15a9
(B)  3rqaRd e
25. 2011 I STATOAT S AR, AT REd | H T fotet
BT ETETATET 75% T AT & 2
(A)  wier (B) 3R
© SR (D) STt
(B)  3rqaRa e
26. TR 5 | HIA-HT THTOT TSR IO 379
HTH H TEATE 2
(A) < (B) Hed
© wE= (D)  &gelt
(B)  3raRd e
% DB29

21.

22,

23.

24.

25.

26.

“Batan Ri Phulwari” (collection of folk tales) was
written by :

(A)
(B)  Vijaydan Detha
(©) Nathmal Joshi

(D)
(E)  Question not attempted

Shyamal Das

Kanhaiyalal Sethia

The most important ancient “Jeen Mata Temple” in
Rajasthan, is located near :

Choose the most appropriate answer from the
options given below :

(A) Churu (B)
(C) Sikar (D)
(E)  Question not attempted

Bikaner

Jhunjhunu

The red colour of red soil is primarily due to the
presence of :

(A)  Oxides of nitrogen

(B)  Calcium carbonate

(©)  Sodium nitrate

(D)  Oxides of iron

(E)  Question not attempted

In how much time, a sum of money becomes three
times of itself at a rate of 10% per annum simple
interest ?

(A) 20years (B)
(©) 30years (D)
(E)  Question not attempted

25 years
15 years

According to the 2011 Census, which of the
following districts had a literacy rate above 75% ?

(A)

(C) Jaisalmer

Kota (B) Alwar
(D)

(E)  Question not attempted

Jalore

Which one of the following articles of jewellery is
worn by Rajasthani men in their ears ?

(A) Choonp (B) Mundri
(©) Murki (D)

(E)  Question not attempted

Hansuli

P.T.O.



27.  ugex faa qRwifes srsaraet #, ww ww &
(SMTP) HTIIT &I Z :
(A) YA A IS WSTB oA
(B) | AA T(AHR WISIBI
(©) 9 A TR AISh Il
(D) | A TS TS ebicT
(B)  3raRd 99
28.  faeg qOteRor fgaw 2025 Ffeiad # 9 o 78 X
TerQIer 2T 2hfsrel T gU /=TI 2
(A) WIS AT 1 L0
(B)  3Me¥fH T Uiy et
Q) oSt Teret ISt &7 HIeqoT
(D)  ATRES HgTOT &t FHT HIAT
(B) 3raRd wed
29.  TATIREd | o TopE TS & HIeT | 1857 &I
ST T e TohaT 4T 2
(A) ATEEH
(B) I T g @
© FuAN™E
(D) eI« E
(B)  3raRd e
30. U T A TAH 8 km/h T ATT TATqHATE | TS
TS HIRTBIIT 2 km/ h ZTATIY T = 76 AT
AT 3N AT 379 | 2 G BT 7Y 97T g, v 98
I a1 g (km #) TR ?
(A) 7.6 (B) 775
(C) 725 (D) 75
(B) 3raRd wed
31.  WRA WTTeTH T HIA-HT AT D Bt §
a2
(A)  ITTEST244 A (B) =51
©) FIT=T42A (D)  IFT=I51A
(B) 3raRd wed
% DB29

27.

28.

29.

31.

In computer science terminology, the full form of
SMTP is :

(A) Simple Mail Transport Protocol

—~~

B)  Source Mail Transfer Protocol

—~~

C) Simple Mail Transfer Protocol

—

D) Source Mail Transport Protocol

(E)  Question not attempted

The World Environment Day 2025 was celebrated
with a special focus on which of the following
issues ?

(A) Marine species conservation
B)  Ecological restoration of wetlands

(
(C)  Conservation of big cat species
(D) Ending plastic pollution

(

E)  Question not attempted

Who among the following led the Revolt of 1857 in
Kota, Rajasthan ?

(A) Mehrab Khan

(B) Ram Gopal Singh Kharwa
(©)  Kushal Singh
(
(

o

) Hardayal Singh

E)  Question not attempted

A man can row a boat at 8 km/h in still water. If the
speed of water current in the river is 2 km/h and he
takes 2 hours to row to a place and come back, then
how far off is the place (in km) ?

(A) 76 (B) 7.75
(© 725 (D) 75
(E)  Question not attempted

Which of the following Articles of the Constitution
of India deals with the Fundamental Duties ?

(A)
(C) Article42 A

Article 244 A (B)
(D)

Article 51
Article 51 A

(E)  Question not attempted



32. WRA HI FWOET (2011) F IAR, TRAH F
frfaiaa & ¥ fee et 31 st # gerha R gig
3T (2001-2011) TTTLTT H TeH FHH T 2
(A) =t (B)  sRiTIR
©) = (D) et
(B)  3raRd e
33.  TRTUTE It AT etatEd § ¥ g Toa/E
TS -&151 o | ST HIATE 2
(A)  Taett (B) TewTae W
©) dS (D) #HEWTE
(B)  3rfana ued
34. 2009 H BT # [HH I F & I T ATUTTATHE
M 31E 2
(A)  FIA YA
(B) W T
©) =i I
(D) Sstrge
(B) 3raRd wed
35. ST UTEY A dUT B fRAT IET BT HAA: 40 T Tom
50 THAe | WX Il 2 e ST U1gy U AT Wit
TS af Tepa o (TH=ei /) & T U1gT A & o fopam
ST =Ty fo 2t 30 fHae # ¥R STT 2
1
(A) 15 ®) 157
© 16 (D) 14
(B) 31aRd 9o
36. 2011 I STAUAT & IFTHAR, TSEATH H TTHT 47
T /STTAHT (0-6 3T FHE) TewTgaTe o :
(A) 933 (B) 911
(C) 874 (D) 892
(B) AR 99
# DB29 7

32.

33.

34.

35.

As per the Census of India (2011), which of the
following districts of Rajasthan had the lowest
decadal population growth rate (2001-2011) in

percentage ?
(A) Dausa (B) Sriganganagar

(©) Barmer (D) Karauli

(E)  Question not attempted
Rajasthan shares its boundary with which one of the
following States/Union Territories ?

Delhi (B)
(D)

(E)  Question not attempted

(A) Himachal Pradesh

(C) Punjab Maharashtra

The collapse of which bridge in Kota in 2009 caused
a major infrastructural disaster ?

A)  Chambal Bridge
B)  Sattapol Bridge

(
(
(©)  Chandpole Bridge
(D)  Daiji Bridge

(

E)  Question not attempted

Two pipes A and B can fill a tank in 40 minutes and
50 minutes respectively. If both the pipes are
opened simultaneously, then after how much time
(in minutes) should pipe A be closed so that the tank
gets filled in 30 minutes ?

1
(A) 15 ®) 157

© 16
(E)  Question not attempted

(D) 14

In the rural area of the Rajasthan, the sex-ratio of
(0-6 age group) of children (female/1000 males) in
2011 was:

(A) 933 (B)
(C) 874 (D)

911
892
(B) Question not attempted

P.T.O.



37.  TSTeATH O fawT St aniees RUie 2024-25 % AR,
Trfaiaa gt # ¥ TFEH ot a7 T, TS
22
TrrTTeTRE Tarehedt # 3 W SUga ST I
(A)  TwHE (B) Tiw
© IR (D) 3R
(B) 3 aRd e
38. fTcTiad ® § fopd ST 1 ‘YR SN’ & A8 I oF
ST SITATE 2
(A) Tt (B) T
Q) ewEE (D) SO§Hg
(B) 3raRd wed
39.  WRa # Rt T i faer aiteg & ae a1 = &
ToTT A a9 M FTE 2
(A) 35a9 (B) 45a%
(€ 25a9 (D) 30aw
(B) 3raRd wed
40. frieiEd ® & i fafad 2ol # @dgs iR @t
H I UTTeTRt & 1T 2024 # SO REER
THATEA T ITT R 2
(A) I
(B)  Sia fag
©)  sHifq RIS
(D) I FETEE
(B)  3raRd e
41. TAUH. TR #, fHEfdtEd § F $9-31 e
Thfie & ! Temt H Thid Hid qa fafire dfea
I/ATHITH Bt GIITHTH TATY THATE 2
(A)  Tepi ThifenT
(B) WS AHIT
©) =AY
(D) wuw
(B) 3raRd wed
# DB29 8

37.

According to Rajasthan Forest Department Annual
Report 2024-25, which of the following regions has
maximum total forest area ?

Choose the most appropriate answer from the
options given below :

(A) Rajsamand (B)

(©) Udaipur (D)

Tonk
Ajmer

(E)  Question not attempted

Which of the following lakes is also known as the
‘Dhebar Lake’ ?

(A) Pichola (B)
(©) Rajsamand (D)

Pushkar
Jaisamand

(E)  Question not attempted

What is the minimum age requirement to be a
member of the Vidhan Parishad (Legislative
Council) of a State in India ?

(A) 3b5years (B)
(C©) 25years (D)

45 years
30 years
(E)  Question not attempted

Who among the following is the recipient of
Dronacharya Award for outstanding coaches in
Sports and Games - 2024 under regular category ?
A)  Annu Rani

B)  Jarmanpreet Singh

Jyothi Yarraji

D) Sandeep Sangwan

E)  Question not attempted

In MS Excel, which of the following functions
allows one to keep specific rows and/or columns
visible while scrolling through the rest of the
worksheet ?

(A)  Synchronous Scrolling
(B)  Smart lookup

(C©) Custom View

(D)  Freeze Panes

(

E)  Question not attempted



42, TR HILTHT AR AL :
(A) NaHCO3 (B) Na2C03
(C) CaSOy (D) CaOCl,
(B)  3raRd 99
43.  Rd & HIETT P AT B ATl FiTemT a7 §
TRt wlgetT weeg ot 2
(A) 15 (B) 30
© 20 (D) 24
(B)  3raRd e
4. T A HIA-TT R H S TS HT IS T
HEAT & ST FGAIR TG H AT ATATE 2
(A) IR A HAT
(B) BN HaT
(©)  Tewit FeTorstt FeAT
(D) it WETI RSt HelT
(B)  3rqaRd e
45. U [qeTeTs H TS Tpal B AT, TASHI B HBATH 25%
arferep & e ferenfira &1 ot F&AT 1620 % 1315 60 307
TASTRAT [TaTer™ | YT Sdl & a7 80 g Taaetd
RIPECERICEANIE
(A) 33:49 (B) 39:41
(C) 20:21 (D) 2:3
(B) 31 aRd e
46.  TSTRAT A 7 F WAl SISAT T TRT-2025 H HIA-AT
AT YT TR 2
(A)  Fam (B) T
© wug (D) d=H
(B)  3raRd e
% DB29 9

42,

44.

45,

46.

The chemical formula of Baking Soda is :
(A) NaHCO;3 (B)
© (D)

(E)  Question not attempted

Na2C03

CaSOy CaOCl,

How many women members were part of the
Constituent Assembly that formed the Constitution
of India ?

(A) 15 (B) 30
© 20 (D) 24
(E)  Question not attempted

Which of the following is the largest Jain fair in
Rajasthan that is celebrated in Chandanpur
village ?

(A) Kapil Muni Fair
(B)  Bhartrihari Fair
(C©) Diggi Kalyanji Fair
(D)  Shri Mahavirji Fair
(

E)  Question not attempted

In a school, the number of girls is 25% more than
that of boys and the total number of students is
1620. If 60 more girls are admitted and 80 boys leave
the school, then the ratio of number of boys to that
of girls will be :

(A)
©
(E)  Question not attempted

33:49 (B)
20:21 (D)

39:41
2:3

What position did Rajasthan secure in the 7th Khelo
India Youth Games-2025 ?
Second

(A)  Third (B)

(C) First (D) Fifth

(E)  Question not attempted

P.T.O.



47.

48.

49.

50.

51.

52.

IR, Taxiigig, TSEHE 3R FIRYR TSI &
frerfaRaa o @ fpw g o e 2 9
TrfeREd faeedt # & FeH U 3TY 9 :

(A)  ¥aTg
© eEwE
(B) 31 aRd e

frfatga afeat & o 69 ‘a9 @ smr
(21T 3T BREC) 3 ATH F W STTATSEATE 2

(A)  drEat (B) &t

(©) el D) A=

(B)  3raRd 9o

% 2,500 T TIIT FTELOT TS I 3 a9 H T 3,250 &l STt

2| SEI TR U, THY ST H 2 OF BT ThgiE AT 4T
BT 9

(B)
(D)

RIEEIS)
ES

(A) %525 (B) %550
(C) %500 (D) %510
(B) 3raRd wed
TSALATT | BIATT &S 3TET Hal RAAE ?
(A) Tiw (B) sIteTaTS
© FmiR (D) wreBe

(B)  3rqaid e

fr=afaRad & 9 S19-9T1 U6 Tl Giaeda? T8
g9

(A) TATH.ES

(B) TANH

©) TS wERTT

(D) SETA

(B) 3raRd wed

frtaiad & ¥ 6T WTdSii=® ATRCT & 85 | I3
IOT-2025 H FFATT FATITATE ?
(A) ST

(B) s\t arderfe weramd

© = Fan™ Sed

(D)  sfrgefte R AT

(B)  3raRd wed

# DB29 10

47.

48.

49.

50.

51.

Udaipur, Chittorgarh, Rajsamand and Dungarpur
are part of which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the
options given below :
(A) Mewar

(C) Hadoti
(E)

(B) Marwar
(D)

Question not attempted

Braj

Which of the following rivers is also known as
“Van-Ki-Asha’ (Hope of Forest) ?

Parbati (B)
Kalisindh (D)

Question not attempted

(A)
©
(E)

Luni

Banas

A sum of ¥ 2,500 on simple interest becomes
% 3,250 in 3 years. What will be the compound
interest on the same sum at the same rate of interest
after 2 years ?

(A) 525 (B)
(©) X500 (D)
(E)  Question not attempted

% 550
3510

Where in Rajasthan is the Kolana Airport located ?
(A) Tonk (B)
© (D)
(E)  Question not attempted

Jhalawar

Nagaur Sikar

Which of the following is not an Application
Software ?

(A) MSWord

(B) QBASIC

(©)  Adobe Photoshop
(D) GIMP

(

E)  Question not attempted

Who among the following, has been conferred the
Padma Bhushan-2025, in the field of Public
Affairs ?

A)  Shri Ram Naik

(

(B)  Smt. Arundhati Bhattacharya
(©)  Dr. Sitaram Jindal

(D)  Shri Sushil Kumar Modi

(E)  Question not attempted



53.

54.

55.

56.

57.

TSI T, AT Rad # ¥ -7 TSTar arfepear
& QT AT HTET & BT 2
(A)  werret (B) TR
© aEH (D) s
(B) 31 aRd e
TG BT TETT B 3 ARG 997 HTIAX S |
F T T IqTe (Hfg o H)
71 76
75 + 73
70 + 68
65
65 +
60 + 58
56
55 + 53
51
50 - 2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21
sl T &t AT H Fod HF & SATG H TIBAA
L HegR
(A)  2016-17 (B)  2019-20
(C) 2017-18 (D)  2020-21
(B) 3raRd wed
S 2025 # frAfariad # & ot Tomenm o |ar
TR T 3T g fpam e ?
(A) Rk
(B) wu=TE
©) IhATHER
(D)  waT3md
(B)  3rfana e
“Tamer” Tr=feriaa & 9 Seiia areEE @ few gof
& ield Ttiepd BATSITAT R ?
(A)  TeToet! o (HHIATH)
(B)  HFATER T (STETTHI)
(C) T AT (HISTHI)
(D) 9Tg AT (TIRIBI)
(B) 3raRd wed

T TershaT = 3T aqQ % 5,700 TS H St | T a5 I
I 14% BT ATH ZI 3 TN I 3 5% &N g5 1 39
T AT H I ZIT ATH 7T &1 FTTre 1l ¥ |

1 2
(A) TH4=% (B) B3 %
2 11
7
(C WTH11% (D) 3%
(B)  3raRd e

# DB29 11

53.

54.

Which of the following districts of Rajasthan does
not share a border with Pakistan ?

(A) Phalodi (B) Sriganganagar
(C) Barmer (D) Bikaner
(E)  Question not attempted
Study the graph and answer the following
question :
Production of Raw wool (in Metric Tonnes)

80 +

76
75 + 73
70 + 68

65

65 +

60 +
55 +

50 -

2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21

The maximum rise in the production of raw wool
with respect to previous year :

(A) 2016-17 (B) 2019-20
(©) 2017-18 (D) 2020-21
(E)  Question not attempted

Who among the following has been appointed as
the Chairman of the Rajasthan Public Service
Commission in June 2025 ?

A)  Shiv Singh Rathore

B)  Bhupendra Singh

Utkal Ranjan Sahoo

D) Sangeeta Arya

E)  Question not attempted

The “Nagara” is classified under which of the
following categories of musical instruments ?

(A) Membranophone
(B) Idiophone

(©)  Chordophone
(D) Aerophone

(E)
A dealer sold two items for ¥ 5,700 each. On one
item he gained 14% and on the other item he lost
5%. Find his profit or loss percentage in the whole
transaction.

Question not attempted

1 2
(A) Profit 4—% (B) Loss 3— %

2 11
©

(E)

7
Profit 11% (D) Profit 3E %

Question not attempted

P.T.O.



58.

59.

60.

61.

62.

63.

# DB29

INTIAT TATHTAT & TFT AT H AT Udd et R
27

(A) IO IR i

(B)  gfgror-gdf waTst &

(O  wem IRTAT &

(D) ZRgToft 3RTaett &

(B)  3raRd e

T FHeT T’ 7 Fawma ‘R 3 ‘Hel” feas
eI & 2

(A) a3 ATt

(B) e 3iT

© IR

(D) AT TS 3T G

(B) 3raRd wed

WRA BT TR0 (2011) 3 TAR, TSTRATH TH H,
Treriad & J Toh Tl F SAE (Fe 7) 999
FHAT?

A) == (B) TSwHEE

© w R (D) SEE#X

(B)  3raRd e

THIHIOT & 7 TN F IR, Teg (IeX) T H
TG FIT AT :

(A) 30 9TE 1951 (B) 30 W 1952

(C) 30 ¥TH 1949 (D) 30 W 1950

(B)  3raRd e

“Cl'%x+y=10, y+z=38 M z+x=248, A x, y 3 2
FTATTE

(A 9 (B) 14

© 7 (D) 10

(B)  3rfana e

TrTaRad 7 9 Tpe WA Tog | AT # faaat
(EEIELECE R E

(A)  HARCH (B) gR=mom

(©  deRTT (D) foER

(B)  3rfand e

60.

61.

12

In which part of the Aravalli range, is the Taragarh
mountain peak, located ?

(A) Northern Aravalli Region

(B)  South-Eastern Plateau Region
(C) Central Aravalli Region

(D)  Southern Aravalli Region

(E)  Question not attempted

In the “Turra Kalangi Khyal” what do the famous
‘Turra’ and ‘Kalangi” symbolize ?

>

) Shiva and Parvati
Radha and Krishna

Ram and Sita

(

(B
(C
(
(

~ =

D) Lord Ganesh and Lakshmi
E)  Question not attempted

As per the Census of India (2011), which of the
following districts had the lowest population (in
numbers) in Rajasthan state ?

(A) Churu (B)
(C) Barmer (D)
(E)  Question not attempted

Rajsamand

Jaisalmer

During the 7 stages of its integration, Greater
Rajasthan was formed on :

30th March 1952
30th March 1950

(A)  30th March 1951 (B)

(© 30th March 1949 (D)
(E)  Question not attempted

If x+y=10, y+z=_8 and z + x =24, then the average
of x,yand zis:

A 9 (B) 14
(D) 10
(E)  Question not attempted

Which of the following Indian States currently does
NOT have a bicameral legislature ?

(A)
(C) Telangana

Karnataka (B)
(D)
(E)  Question not attempted

Haryana
Bihar



64. Trfeiiad & & B9, ToRA |, FETIAT 99 &
YTATIH 2 2
(A)  THIEST
(B)  FTARTIOTSI
(©) wicaATYST
(D) et
(B)  3rgana e
65. TSR ST TSTEAT % Teh 815 & wrarferd Ueh otk
1T el 2
(A) IR
(B) SEeTEY
© SR
(D) R
(B) 3raRd wed
66. TrATRgd # A fpw ITRE I % i rTafsRaT
& aRoTrEEEy foeenae sttwisraT 2t 2
(A)  CuSO, faeram iR =idteng
(B)  NaCl Tarerar i atem emq
(©)  FesO, Taera iR AfaT &g
(D)  AgNO; faea= s aiar o
(B)  3raRd e
67. WA AT % T7¢ T 37 STast 2025 | @t
e ST et Y g3 R Wi BT A L ?
(4) I TATE. afE
(B)  3ME.UA.qH. qHI
(O T TATH. I
(D)  3TE.TA.0H. §HE
(B) 3raRd wed
68. TH TR A T 21 H 4 HI T H TS ATHAT @IGT 3T
3% T 13 H 2 BT ST A o fEAT| 3 AN oS H 39
% 180 HTTTH 3T | IW Fha=1 STt WG of ?
(A) 140 (B) 132
(C) 150 (D) 144
(B)  3raRd e
# DB29 13

64.

Who among the following is the founder of the
Kamadia Panth in Rajasthan ?

(A) Ramdeviji

(B)  Devnarayanji
(©)  Mallinathji
(D) Pabuji

(E)

Question not attempted

Alibakshi Khayal is the prevalent folk drama of
which region of Rajasthan ?

(A) Udaipur

(B)  Jaisalmer
(©)  Jodhpur

(D) Alwar

(

E)  Question not attempted

The reaction between which of the following pairs
of reactants, will result in a displacement reaction ?

(A)  CuSQy solution and Silver metal
(B
(C
(
(

~

NaCl solution and Copper metal

~

FeSOy solution and Copper metal

)

) AgNOj solution and Copper metal

E)  Question not attempted

What is the name of the second multi-purpose
vessel built for the Indian Navy and launched in
January 2025 ?

(A)  INS Shakti

(B)  INS Samarthak
(©) INS Utkarsh
(D) INS Samrat

(

E)  Question not attempted

A man bought some sweets at the rate of 4 for I 21
and sold them at the rate of 2 for ¥ 13. In the whole
transaction he gained X 180. How many sweets did
he buy ?

(A) 140 (B)
(© 150 (D)
(E)  Question not attempted

132
144

P.T.O.



69.

70.

71.

72.

73.

TSR H I F Ao AR 3199 10 3U-a =1 & T
STATSTTATE 2

(A) T (B)  wTEr

© == D) T

(B)  3rfana e

15 STERY 2025 T AT Toas Bt a2
(A) TR (B) aTEEt

© 4o (D) Tt

FTART T
TISTRIT % I HATS G151 H T 3T TH G TH AT
AT ST AT [T AHIN AR 60 T
CREIDLE S
(A) i
(©  #Hr

(B)  3raRd e

TrATaRad # T H-UT TSR Fa=ehet &t 7
fargroraatt # enfHer T 2 2

frfeTia fasheat # & Hae ST 3% 94

(A)

FRN 3R IAE AT ST X T HT RS,
Fersror

UTP e AT 3T AR Fied &1 AT o=y
TSI P ThetT 1 T ugam 2aT 8

Tt # “ofer’ 3T QTR 291+ & STida Wi 1]
T

TSI Tt &7 7gat, fhat, Aig 319
EATeTdl | TSt Ueei= &l grar
AR 99

frfetiEd # A e, TR & q=at & §9 H
T I QT T T 9

(B)

(A) 9= e dmaa
(B)  SWr=TY wETREAT
(©)  ERTeTS T
(D)  SYHTIHA YTeltaTel

(B)  3raRd wed

# DB29 14

70.

71.

72.

73.

Which river basin in Rajasthan is known for its
10 sub-basins ?

(A)
©
(E)

Luni Mahi

Chambal

(B)
(D) Banas

Question not attempted

Where was Army Day celebrated on 15 January
20257

(A)
©
(E)

Guwahati

Delhi

Bangalore

(B)
Pune (D)

Question not attempted

The famous folk song ‘Humseedo” sung by both
males and females together in the Northern Mewar
region of Rajasthan, belongs to which community ?
(A)
©
(E)

Bhil Garasia

(B)

Meena (D) Sahariya

Question not attempted

Which one of the following is not a main feature of
Rajasthani painting ?

Choose the most appropriate answer from the
options given below :

(A) The amatory (sringarik) depiction of seasons
and their impact on human life

Vivid depiction of natural as well as feminine
beauty gives Rajasthani painting a distinct
identity

(B)

(C) Use of vibrant colours in the portrayal of

‘bhakti” and ‘shringaar’ in paintings
(D)  Rajasthani painting is not publicly displayed
in palaces, forts, temples and havelis

(E)

Question not attempted

Who among the following, had taken oath three
times, as the Chief Minister of Rajasthan ?

(A) Bhairon Singh Shekhawat
(B) Jagannath Pahadia

(C) Heera Lal Shastri

(D) Tika Ram Paliwal

(

E)  Question not attempted



74.

75.

76.

77.

78.

# DB29

TSTEATH % AT 6, TT, qA-89 § 77 19
AqHFH Y :

(A)  FFTTE (B)
© TR (D)

(B) 31 aRd e

AT

SIS

1428 H BIT-H Bl F Bl TEAT B STgd I I
@3, 4, 5 3R 6 A Yoia: fervmeer gRTT 2

(A) 18 (B) 9
© 12 (D) 15

(B) 3raRd wed

A, B 31X C o THT {321 % AT ATISRY 9F B S
HEM TS, B 7 379 a7 Y 509% TIT 6T 37T Forarer
TeRaT QT C = 319 TA9r Y 20% TRT BT 3T Fodar
TepaT| a9 % 3ia § i A BT 22,800 FTHILT FeT,
HA ATH AT HY|

< 81,700
< 79,500

(A) 80,920 (B)
(C) 78,600 (D)

(B)  3rqaRd e

~

“Saarg uRkada” % fore frtafeaa # 9, feast
BRI HATSTCATE ?

Fepeetfotfoad fambeeit 5 T STPeRT 5719 17 -

A) ST % TaeTw 2 &1 HH ST RgH

B)  37aTeT H IoohT AT BT Tl

Tewera # fewmg o # gfs

D) =H HHH qeATE

E)  3raid ued

- ~

(
(
(C
(
(

3237, TITTIH (2005) Ft FATTREd & § T
ST H AT & THE BT H BT BT AT & 2

(A) «rT8 (B)

(D)

gRT12
(©) emr3

(B) 3raRd wed

gqRT4

74.

75.

76.

77.

78.

15

The important saint of Rajasthan, Pipa, was
originally a ruler of :

(A) Kumbhalgarh (B) Bhangarh

(©) Gagron (D) Lohagarh

(E)  Question not attempted

What is the least number which should be added to
1428, to get the resulting number exactly divisible
by 3,4,5and 67

(A) 18 B 9

© 12 (D) 15

(E)  Question not attempted

A, B and C entered into a partnership by making
equal investments. After 2 months, B made an
additional investment of 50% of his initial
investment and C made an additional investment of
20% of his initial investment. If at the end of the
year, A received ¥ 22,800 as his share in the profit,
then find the total profit.

(A) 80920 (B)
(C) 78,600 (D)
(E)  Question not attempted

% 81,700
% 79,500

“Climate change” is considered a causal factor of
which of the following phenomena ?

Choose the most appropriate answer from the
options given below :

(A) Low risk of species extinction
B) Increased meteor activity in the outer space
C) Increased glacier formation in the Himalayas

D) Extreme weather events

E)  Question not attempted

Which of the following sections of the RTI Act
(2005) has the provision for exemption from
disclosure of information ?

(A) Section 8 (B) Section 12

(C)  Section 3 (D) Section 4

(E)  Question not attempted

P.T.O.



79.

80.

81.

82.

A T B THeTspT fopeft 18 1 10 o9 o & wad 25
B AT C Mot STt 1 12 [ A v geha &, TP
A TITC A sq 15 g A mwd 21 afe A, B o
C Tt 18 &L af I b AT | IHY HTH B B
o ?

(A) st (B) 8% fe
© 7 (D) 7% fe=
(B) 3TaRd 99

ST Bt a8 ferema ghter, fent et fasa g5
ST SITHT 6 TN qh STA-TTHT S % &9 H IGIAT
fpararTem &

(A)  TSwHS

(B) bt

©)  Tster

(D)  AFAEEE

(B) 3raRd wed

Bl AT Tehgs ST HF fFAt R W 3 IF A
% 6,65,500 31T 5 99 H T 805,255 & STl & | Ffe st
TIH TS BT TET S, a1 T8 ARTFATE 2

(A) % 5,00,000 (B) % 5,25,000
(C) % 4,80,000 (D) % 4,92,000
(B) 3raRd wed
dferar e FROT A BT

TrrTTeTiE Tarshedt # ¥ T Suga ST I
(A) T H TIeTSter @ JTferesar

(B)  Tor H UICTTI St Aferepar

Q) T H IR I Bl ATHAT

(D) T H EAIAITE I e

(B)  3raRd wed

# DB29 16

79.

81.

82.

A and B together can do a work in 10 days; B and C
together can do the same work in 12 days whereas
A and C together can do it in 15 days. How long will
A, B and C take to do the work if they work
together ?

(A) 8days

(B) 8 % days

1
(©) 7days (D) 75 days

(E)

Question not attempted

The famous lake of Rajasthan which was used as a
sea-plane base for about 6 years during World
War-Il is :

A)  Rajsamand
B)  Nakki
Pichola

D) Anasagar

E)  Question not attempted

A sum of money becomes X 6,65,500 in 3 years and
% 8,05,255 in 5 years at certain rate of compound
interest. If interest is being compounded annually,
then what is the sum ?

(A) ¥ 5,00,000
(C) T 4,80,000
(E)

% 5,25,000
3 4,92,000

(B)
(D)

Question not attempted

Jaundice is caused due to :

Choose the most appropriate answer from the
options given below :

(A)  Excess of bilirubin in the blood
(B)  Excess of potassium in the blood
(C)  Excess of uric acid in the blood
(D)  Excess of hemoglobin in the blood
(

E)  Question not attempted



83. WA HUT & IHR, S Aok T fererreeat
BTG EI &, IH 7 Forgert fopan ST aehar 8, ot
gtg @8 g #f fafa @ % HiaT T
fqeiee %1 gew Fraifad 72 gar &, af 39 ug
GIESIEEGIE
(A) 1578 (B) 67E
©) 124ME (D) s8#E
(B) 31 aRd e

84. FTIY Y, faeT TUT MY BT ML H 3 : 4 FHT 31T AT
TS qY AT 3BT G H 7 : 9 T AT W01 37
T ITAT MY FATE ?
(A) 2499 (B) 27ad
© 259 (D) 26Td
(B)  3raRd e

85. e # Tl 5w b HaTraeT (Ygaihe SAeT) Hi
TR i a1 2
(A) I IT BT IIITA
(B) Irgdfa
(C) 3T T FHTHZHA
(D) ST HTHEA HAL
(B) 3raRd wed

86. ST Y F AW T H A & AT,
WA BT T o7 F OTHT BT -
(A) AT & T AT
(B) e EHAT
(C)  weTEET
(D)  HzH
(B)  3rIand e

87. "TIS?I’ﬁﬁCE TS (Microsoft Word) T TG SRS BT
I AT I & [oTT Bie TS T Tl Hi
QTTEhe Hofl BIA-HTE ?
(A)  Ctrl + Shift + P
(B) Ctrl+V
(C) Ctrl+P
(D)  Shift +F
(B) 3raRd wed

% DB29 17

83.

84.

Under the Indian Constitution, a person who is not
a member of the State Legislature may be appointed
as a minister, but if he/she is not elected to the State
Legislature within from the date of
appointment, he/she must vacate the office.

15 months 6 months

(B)
(D)

Question not attempted

(A)
©
(E)

12 months 8 months

Two years ago, the ratio of ages of Vinay and Ashu
was 3 : 4. One year hence, the ratio of their ages will
be 7 : 9. What is the present age of Ashu ?

(A)
©
(E)

24 years (B)
(D)

Question not attempted

27 years

25 years 26 years

In India, the Advocate General for a State is
appointed by the :

(A) Governor of that State
(B)  President

©
(
(

Chief Minister of that State

)

)  State Minister of Law

E)  Question not attempted

For appointment of the Chief Justice of a
High Court, the President of India consults
the :

A)  Chief Justice of India

B)  Union Home Minister
Prime Minister

D)  Chief Minister

E)  Question not attempted

Which Shortcut key is used for opening the Font
Size Box in Microsoft Word to change the Font Size
of selected text ?

(A) Ctrl + Shift+P

(B) Ctrl+V

(©) Cul+P

(D)  Shift+F

(E)  Question not attempted

P.T.O.



88.

89.

90.

91.

92.

TR TSE 202526 % AR, TsT # fhaw
Mhles TRoHd & MET S ST IS T8 8 2

(A) 9 (B) 20
C 15 (D) 8

FTART T

TS & Hel fir Tged S ferd 7 719 918U 5T 9ed
I T T FEATH (ST I T 2

(A)  TadTdloe-e STH0T BaTaTe

(B) e famATT

(©)  HUI EIAIR HolR It Fg

(D) Frors strgATY farg

(B) 3raRd wed

Y 2025 F TRATH F leiEd § ¥ 6 o1 oft
THAT T B3 & ?

(A)  TETST HURT

(B)  srata@Ey

© HATHAREX

(D) AT

(

E) 3 aRd 99T

FrAfeRad | T USITgH 3T WAl T F Hid-9
T BT T FET A& E 2

(A)  Fpd- T

(B)  37id - AT

(© @R - THTEaS
(D) & - fefeas

(

E)  3rfaRa ued

T - TN TG U & §3H H, UDMA 10T &
FE 2

(A)  FATECS TEaReT HestHE TATRET

(B) 319 TSI AASIRTA TSTHIEIT
©  3rE7 feamey #aste srutier

(D) AU AR HATRIT TS AT

(B)  3rfand e

# DB29 18

89.

90.

91.

92.

According to the Rajasthan Budget 2025-26, how
many greenfield expressways are planned to be
constructed in the State ?

A 9
C 15
(E)

(B) 20
D) 8
Question not attempted

Name the first person who belonged to Rajasthan
and he was awarded the Param Vir Chakra ?

(A) Second Lieutenant Arun Khetarpal
(B) Captain Vikram Batra

(C) Company Havildar Major Piru Singh
(D) Naik Jadunath Singh

(E)

Question not attempted

Who among the following is the Padma Shri
awardee for the year 2025 from Rajasthan ?

(A) Gulabo Sapera
(B)  Avani Lekhara
(©)  Munna Master
(D) Begum Batool
(

E)  Question not attempted

Which of the following pairs of enzyme and site of
synthesis is NOT correctly matched ?

A) Liver - Bile

B) Intestine - Maltase
Salivary gland - Amylase
D) Kidneys - Trypsin

E)  Question not attempted

In the context of State-level disaster management,
what is the full-form of UDMA ?

>

) United Disaster Management Authority
B)  Urban Disaster Managerial Administration

C)  Urban Disaster Management Authority

(
(
(
(

)

) Universal Disaster

Administration

Managerial

(E)

Question not attempted



93. T 3R T W Haferd Wt ATHAT H, AIHAT T
T TATEHR B BT E 2
(A) THFI AT
(B)  TS¥ 3=T AT & T =TT
© T
(D) T=SIUTA
(B) 3 aRd e
94.  TTSTRATH BT ATafSad 7 - “erket enzi & - fepereh g
@I o ?
(A)  FEYHT S
(B) U 3R
©)  HES HEA
(D)  HeaaTelTet AT
(B)  3raRd 9o
95. Tl §Tg 3 ALHI I FHTHS fferrad # ¥ fpw
BT b TS FATHRE ?
(A) ceEAT (B) T
© waTg (D) =#
(B)  3raRd e
96.  FEI-1 I F-2 FT ™ HIfTT -
-1 -2
(EAAIINF A | (TTAA SUOT FRI AT
EESEARII ) AT T STHI)
(@) |FATR () |w€r  (Towari)
EIRICES
(b) |FHATHE(C) T (i) [T F TAT IMHR
ARG
(© |wrBE (F) R ga| (iii) |srwad &g (fog-
P) F AT H 3T T AT
(d) |EhaTSg (C) WX | (iv) | T%] ¥ BT Afdiad
T Tz o farered & 9 TR SO BT 99 ST
(A)  (@)=(iii), (b)-(ii), ()-(i), (d)-(iv)
(B)  (@)-(ii), (b)-(iii), (c)-(iv), (d)-()
©  @-(iv), (b)=(id), (c)-(1), (d)-(iii)
(D) (@)-(iii), (b)-(1), (c)-(iv), (d)-(i)
(B) 31 aRd e
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96.

Who acts as the principal advisor to the Chief
Minister, on all matters of policy and
administration ?

(A)  Chief Secretary of the State

(B)  Chief Justice of the State High Court
(©) Home Minister

(D) Governor

(E)  Question not attempted

The iconic song of Rajasthan - “Dharti Dhoran Ri”
- was written by :

(

>

)  Satyaprakash Joshi

(B) Paras Arora

(C©) Meghraj Mukul

(D) Kanhaiyalal Sethia

(E)  Question not attempted

Mangi Bai and Lakshman Das Kamad are the
prominent dancers of which of the following dance
forms ?

(A) Terah Taali (B) Ghoomar
(C) Bhavai (D) Bum
(E)  Question not attempted
Match List-1 with List-2 :
List-1 List-2

(Position of object in
front of concave

(Size of image formed
by concave mirror)

mirror)

(@) |AtInfinity (i) |Enlarged

(b) |At the Centre of|(ii) |Same Size as the
Curvature (C) object

(c) |Between Focus (F)|(iii) |Highly
and Pole (P) diminished (point

sized)

(d) |Beyond Centre of|(iv) |Diminished

Curvature (C)

Choose the correct answer from the options given
below :

(A) - (a)-(i), (b)-=(id), (c)-(), (d)-(v)
(B)  (a)-(i), (b)~(iii), (c)-(iv), (d)-(1)
(©  (@-(iv), (b)-(id), (c)-(0), (d)~(iii)
(D) (a)-(ii), (b)-(0), (c)-(iv), (d)-(ii)
(E)  Question not attempted

P.T.O.



97. HIEIAEET ATAMNFETAIEATAS &
H yferad AT AT |
(A)  wATETE (B) TarEr
©  wraTET (D) $RIT
(E)  argana ued
98. T WHH B WES’ quT HAFfaREd § ¥ feaw
Heferd s ?
(A)  afyesi faemw
(B)  SHTICT Bl ST T AT T
(©  =feror-ufsers A=A
(D) FT-gd AT
(E)  sraRa usd
99.  “SERET” (PO IR) foFw uig sifertufe® w5 &
ANTgefH ¥ faes i frammar o 2
(A)  =F.9rF. HST (B)  =T.< . I
© St FEaT (D) =X, 31T qeTigarT
(E)  3rfand ued
100. 1615 ¥ HaATS-IIA |, TEAR AR FdH a9 &
ot 2
(A)  ToTIEA EE
(B)  HERTUT F#AT
(© =R IS
(D) Irom 37 fie-1
(E)  arfand ued
# DB29 20

100.

The Mahi Mahotsav is officially celebrated in the
region of Rajasthan every year.

(A) Pratapgarh (B) Sirohi

(C) Banswara (D) Dungarpur

(E)  Question not attempted

The ‘Mavath’ rainfall of the Rabi season, is

associated with which one of the following ?

(A) Western disturbances
(B)  Bay of Bengal Monsoonal Winds
(C©)  South-West Monsoon
(D) North-East Monsoon

(E)

Question not attempted

The “Jaipur Foot”, a prosthetic limb, was developed
under the guidance of which renowned Orthopedic
Surgeon ?

(A) Dr.P.K. Sethi (B) Dr.B.K. Goyal
(©) D.R.Mehta (D) Dr. Ashok

Panagariya
(E)  Question not attempted

In 1615, the Mewar-Mughal treaty was signed
between Jahangir and :

(A) Rana Uday Singh
(B) Maharana Kumbha
(©) Maharana Raj Singh
(D) Rana Amar Singh-I

Question not attempted



101.

102.

103.

104.

105.

THRT 97 | TAe F 0 g9 A fpaest v
fFOTSTaTE 2

(A) TR (B) #EIRT
©) wag (D) 39T
(B) 31 aRd wed

Tr=tetiad o o o6 T & wpses feparm 1 gt
T g3 ?

(A)  FEETIAIIETE

(B) #fac gERT@TR|

(C)  #ied fshebe Werar 2|

(D) =& e uerT R |

(B)  Swana wed
frfafaa 7 @ fadersr areg 7

(A) W (B) Fatsan
© == (D) dgam
(B) IrIaia wed
frfafea A @ s aa g

(A) ¥l TaaTT et TEl 3T |

(B)  WTfac iR Siae &7 wfees Taer® |
(©)  wYToTy ISt avh T ITH 37T AT |
(D) 38 Yo AT I |

(B) 31 aRd ued

frrfetfEd % & H-TT I,  EqadAg YaHTa’ BT
ISTETTE 7

(A)  HIgdT, AP o TS |
(B)  TH T IETF TS |
Q) T IXIHTAT H U 2 |
(D) & 3T AT HIL B et T |
(B) A wed

# DB29
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106.

107.

108.

109.

110.

111.

ferrferiiaa ereat # & TrHgaTo Uall BT ISR ;

(A)  ww (B) &=
(© T (D) AT

(B)  Irqana wed
“FeTeT BT faeT oTsR B -

(A)  Frder (B) wdigr

© | (D) 3mgy

(B)  Irana wed

‘GLOBALIZATION' & feTq Sueer fadt arsa 2 -
(A)  dedreor (B)  rEteBTor
(©)  feFsitepTor (D) gLeteBToT
(B)  3ranad ued

‘e’ 9Teg # T TIT & :

A) = (B) %

© =® (D) ©s

(B)  3ranad wed

“fferait TeehTT FETay BT ¥ :

(A) = FUR-SeR AT

(B) =R H AT BT ST GTAT

(©)  HH AT AT

(D) STeiT o GEX-3ErX thepeAT

(B)  SrIanad wed

3T T T ATH TGS TAIB T BTN :
(A)  3iEr el HTIOi &

(B) 3oyl &1 SATASR BT

(© ot = ferdg AT EAT

(D)  T[oT o Ty SferT &AT

(B) 3ranra ued

P.T.O.



112.

113.

114.

115.

116.

117.

118.

Teh TR T § HI--FT 07T & &1 =T 2

(A)  egear (B)  gofar
(©) weear (D)  freaaTeTaRdr
(B)  rana wed
el d T e

(A) 3B (B)  atcHtast
©  Taeram (D)  IstaeT
(B) 31 aRd wed

qRTGT’ 9168 % Ty Sha AT e :
(A)  stroferFarg T

(B) ST g St aleTT T &

© frEwradena s gw e

(D) Tesrd ol TE g
(B) SrIana wed

‘I + TV BT E BN

(A) @ (B) =r
(©) =& (D) ==
(B)  3raRd wed

TR 9T § HIT-ATITENE 2

A) &= (B) &

© f D) ™

(B) 3rfanra wed

Tt & & Bia-T dH e TE R 2
(A)  3TRe (B) T

© "3z (D) TR

(B) SrIana wed

“IRTT B GET @A F A0 Faed-w M
TR |7 — S T H B~ (LT J et g3 e 2
(A)  ToTATES faQreoT

RICEIEEAGRIL

AT faerer

aRATOTaTe fargteror

TART 99

119.

120.

-00o0-

22

-1 HTFAT-2 % T = B
-1 -2

(Fd™) (AT 1)

() |qowaTaE (i) [SETATHITIMATE ?
oA

(b) |srfre=maras (i) [§ 3199 T el
eI TG |

(©) |[FeaTa® (iii) [FBTIRT |
eI

(d) |Feraras (iv) |3TTSTeheT I8 QTid T&dT
TEAT Z |

= g Ty faspedt # § WW IUgER 3T BT =4
I :

A)
B

( -(iv), (b)-(iii), (c)-(i), (d)-(1)
(

©)

(

(

(i), (b)-(iv), (0)-(iid), (d)-()
~(iv), (b)-(ii), (€)-(i), (d)-(i)

(
(

~

xS,

E)
freTiad oTssl & “3R0T’ 9Te8 T YA TFaTa T 7E
2

)

(II)
(III)
(IV) SFTeT

(v) fafae

= ferg o forpeat # & W SO ST B TEH
PHITT

I (I17) 3T (V)
FHIA (1) 3 (IV)
FIA (I1) 3 (IV)
A (1) 3T (11
FTARA U9

9
P
RpE)
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